N = 0 &8 AH Y H N AN
20208 & 20l &t Xlot=2el SE3AH &H
2N A&
M oD WRe ML
o2l Xlote 222l (Xot=2t2] S35l H) (&2 &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
240 911,129 933,654 N 22,525
9t WRE A2 911,129 933,654 N 22,525
Kot 22l (Xaot=2el SgY3AH) 911,129 933,654 N 22,525
Kot 2% 22| 241,775 227,014 14,761
101 @121l 19,808 19,397 411
04 JI2ZtH 22 XNEE 19,808 19,397 411
OXdt0lEa2Y3a FUE 19,808
oJ=3 68,7203 1P x168Y 11,545
Osg=xg 68,720 *1H 76 5,223
[Or=2=1:l 5,000& x 1% 168 840
Onstl 5,000 x1H 168! 840
ons==4¢ 960
. B X 40,0002 x1H +x8& 320
sl 640
el [DNIE 20,000& x 1 »8& 160
-= M X 60,000& x 14 8 480
OY &SIyl 400,000& x1H *13] 400
201 et A | 19,032 18,162 870
01 AFR2t2ldl 4,500 4,500 0
ogst+2H| 4,500
Os2=, NHA=LDXAN S M
1,000& *4,0000H 4,000
OIZelH EUINERZXN ¢ 500, 000& =14 500
02 =294l 14,532 13,662 870
o332= % HA 6,612
ORER= 380& *1,45024 x12& 6,612
O A& EH sX22 7,920
OEgH € S8 A2l
50,000& x12& 600
OAXNat==0l22=2 ANSOIXMAIAE X2
ull 110,000& = 12& 1,320
OXlsot=2x2=9 Xl 22|yl
500, 000& =120 2 6,000
307 QI2t0| ™ 93,960 90,480 3,480
05 0I2t2 &2 93,960 90,480 3,480
ORXdts Ol 23 5,400& 1,450 *12& 93,960
308 AXISHXSOoIH 18,975 18,975 0
10 ST 2SO USHE A A EAIS Y 18,975 18,975 0
OXols BX2=2 DLIHE
1,581,2503 1201 4 18,975
401 Al HI L 2T 90,000 80,000 10,000
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SA - BB B () - MM - BES Ol &t o San HmEET
01 A& HI 90,000 80,000 10,000
OXdt BEx2=2 LAY
35,000,000 *20H 2~ 70,000
OXicte &X3 A&=7 2,000,000& 1000 2 20,000
ol Bl 8l 669,354 706,640 A 37,286
801 GilHIbI 669,354 706,640 N 37,286
01 Etoilgl Bl 669,354 706,640 A 37,286
©uldl bl 669,354,000 669,354




